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 obtain a group of information, his chief complaint ask more about the chief complaint.   
 Extra-oral examination:
 skeletal pattern (ant. Post. Relation) which is done by: 

cephalometric radiograph, tracing and soft tissue assessment (lips; competent or not, lip line, swallowing pattern).

Also you have to examine:

· Oral hygiene

· Caries risk

· Soft tissues

· Overjet and overbite

·  Mid lines

· Canine relationship

· Incisors relationship

· Molar relationship

· Crowding and spacing; 

· anterior crowding (from distal of canine to distal of canine) 

· posterior crowding (mesial of the first molar to mesial on the other side) 
· Now a list of problems then a proper sequence (treatment objectives). 

· determine which of them we can change and which we cannot:

· Can we change the skeletal pattern?

Yes, by surgery, ONLY if severe.
· severity according to SNA, SNB, ANB values and the lower face height (we determine it by lower facial height percentage and MMPA …. If they're outside 2 standard deviations of the normal most probably we need to do surgery) 

· Can we change the soft tissues pattern?

Yes, by surgery, 

The sequence to correct the problems that are related to teeth positions (overjet, overbite, spacing, molar and canine relationships)

· FIRST thing we do is reduce the overbite.

· 2nd provide space; to reduce the overjet,

· 3rd correct the canine relationship
 (The KEY in orthodontic treatment is to bring the canines into a class 1 relationship).

· 4th reduce the overjet.

· Finally, molar relationship. (Sometimes we may start from the back "molar relation" first!).

· to retain the canines and molars in their corrected position,By putting them in class1 relationship, in cusp to fossa position ,,which is much more stable than half unit class2 "cusp to cusp position".

· The soft tissues also will retain the teeth,, lower lip will hold the upper incisors in their new position.

Planning for orthodontic treatment 
treatment modalities are : 

1) early treatment 

2) camouflage ( fixed or removable appliances “ tipping movement “ ) 
3) combined orthognathic surgery   (it could include  “ orthopedic “ early before permenant teeth ) 

    Extract or not to extract : depends on how much space do we need .     
· The main things that require space : 1) crowding .    
                                                                2) overjet reduction . 
· If more than half a unit per side ( full unit = 7 mm = premolar width ) 

3.5 mm per side , we consider extraction ! 

But first must consider all the methods before extraction like : 
1. Distal movement of the buccal segment .
 2.  Anteroposterior and lateral expansion . 
* expand the arch laterally when crossbite , the space I can get depends on the crossbite if unilateral ( = one cusp width )  or

 bilateral  (= 2 cusps width = 14 mm)

* expand the arch anterior-posteriorly  when:

           1 ) class 3 ,  we move the upper incisors . 

2) class 2 division 2 . 

3) when the patient has thumb sucking habit .

final molar relationship ? 
         It depends on whether you extract or not 
· If you extract the upper 4s , the final molar relationship is full unit class 2  

· If you extract the lower 4s , the final molar relationship is class3 

· If you extract the upper and lower 4s , the final molar relationship is class1 

· If you don’t extract, the final molar relationship is class 1 
- Removable or Fixed? 
1) which teeth do you want/need to move 

2) in which direction 

3) Is their inclination favoured in that direction or not  
Removable appliances in the lower arch:

Could be put but are very uncomfortable and the retention is poor.

And Removable appliance are not indicated for mild crowding. Why? Removable appliances are good at moving teeth but don’t move them accurately so we use fixed appliance instead 

Anchorage requirements

The greater the force, the greater the reactionary force. 

If the number of teeth affected by the reactionary force increase, the probability of teeth moving will be less. 
How much force do you need to move the teeth? 

The force you need to move a single rooted tooth is 75g

If Action =70g the reaction on 8 teeth = 70/8=8.75 which is lower than the lowest limit for tipping so the tooth wont move which means I don’t need to support my anchorage. By anchorage we mean head-gear.

Note: when 4s are extracted, the distribution of space is 70% for the anterior segment and 30% for the posterior segment 

When you extract 5s, distribution is 70% for the posterior segment, 30%for the anterior segment. 
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